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@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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@ x+3=2x-2 @ x+3=2x+2
@ x+2=2x-3 @ 2x-3=x+1

® 2x+1=x-3
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® 8x-9=5x+3 @ 8x-9=3x

® 8x-9=x-3 @ 8x-9=5x-3

® 8(x—9)=5x-3
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@ x+2x=36

@ x+(x+2)=36

36

@ (x-2)+x

@ x+(x+1)=36

® xx2x =36
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DO x+4=44+x-9 @ 4x+9 = 4x
® 10x+4=4x-9 @ 10x+4=404+x-9

® 10x+4=40+x+9
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D 20x+x=10x+x—-18
@ 2x+x=10x+2x+18
® 20x+ x = 10x + 2x + 18

@ 10x+x+18=x+10

® 104+x+2x=x+18+2x
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@ 2(7T+x)=x+7-18 @ 14x-18=10x+7
® 4x=x+7-18 @ 70+ x-18 =2(10x+7)
® 2(70 +x) = 10x+7-18
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@ 454+x=39+x @ 454+ x =13+ 3x

® 45 =3(13 + x) @ 454+ x=2(13 +x)

® 45+ x=3(13 + x)
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® 5cm @ 10cm @ 15ecm @ 20cm @ 25cm
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@D 10cm @ 1lcm ® 12cm
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@D 4cm @ 5cm ® 6cm @ Tcm ® 8cm
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D 10 % @ 16 % ® 20 % @ 26 % ® 30 %
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@D 38 @ 40 ® 42 @ 44 ® 46
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@ 5 cm @ 7 cm ® 9 cm

@ 10 cm ® 11 cm
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